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The five-digit integera679b’ is a multiple of 72.

What are the values afandb?

In Vegetable Village it costs 75 pence to buy 2 potatoes, 3 carrots and 2 leeks at th
Outdoor Market, whereas it costs 88 pence to buy 2 potatoes, 3 carrots and 2 leeks
at the Indoor Market.

To buy a potato, a carrot and a leek costs 6 pence more at the Indoor Market than
does at the Outdoor Market.

What is the difference, in pence, between the cost of buying a carrot at the Outdool
Market and the cost of buying a carrot at the Indoor Market?

The diagram shows two circular al€B andCQ in C
a right-angled triangl&BC, where/BCA = 90°.
The centres of the arcs akendB.

Prove thaéPQ* = AP x BQ.

A P 0 B
The pointsA, B andC are the centres of three faces of a cuboid that meet at a
vertex. The lengths of the sides of the triarAB€ are 4, 5 and 6.
What is the volume of the cuboid?
Some boys and girls are standing in a row, in some order, about to be photographe

All of them are facing the photographer. Each girl counts the number of boys to her
left, and each boy counts the number of girls to his right.

Let the sum of the numbers counted by the girl&pand the sum of the numbers
counted by the boys i@

Prove thaG = B.

The diagram shows four identical white triangles
symmetrically placed on a grey square. Each triangle is
isosceles and right-angled.

The total area of the visible grey regions is equal to the
total area of the white triangles.

What is the smallest angle in each of the (identical) grey
triangles in the diagram?




